
Assembly Instructions

classic 
adirondack glider

330-893-4212 • www.wildridge.com
LCC-208

© 2020

Required Tools:
- �Mallet/Non Marring Hammer  

(Do not use Metal Headed Hammer)

- Cordless Drill
- #2 Square Drive Bit
- �9/16" And 7/16" Wrench Or 

Socket

Hardware:
- (8) 1/4" X 2 3/4" Bolts
- (2) 1/4" X 2" Bolts
- (10) 1/4" Flange Nuts
- (4) 3/8" X 2 1/4" Machine Bolts
- (4) 3/8" X 2 1/2" Machine Bolts
- (8) 3/8" Lock Nuts
- (16) 3/8" Washers
- (8) 3" Screws
- (6) 2 1/2" Screws
- (4) 2" Screws
- (4) Glider Brackets

Parts:
A = Back
B = Seat
C = Left Arm Assembly
D = Right Arm Assembly
E = Glider Base
F = Angle Iron
G = Base Support Brackets

Step 1
Position the back (A) onto the seat (B) as shown. 
Keeping the side and back flush, fasten with (3) 
2 1/2" screws through the pre-drilled holes.

Step 2
On the back side of the swing, place the angle iron (F) onto the frame where the 
back and the seat meet, as shown. Fasten the angle iron to the frame with (3) 2 1/2" 
screws though the pre-drilled holes in the angle iron.

A

B

C

E

G

F
D

A

B
F

E



Assembly Instructions

classic 
adirondack glider

330-893-4212 • www.wildridge.com
LCC-208

© 2020

Step 5
Position the glider base (E) and the base support brackets (G), as shown. Fasten 
the glider base to the base supports with (4) 3" screws, 2 on each side. Repeat on 
the other end with the other glider base.

Step 3
Set the back/
seat assembly 
on its side as 
shown, and 
fasten the right 
arm assembly 
(D) using (4) 
2 3/4" bolts in 
the legs and (1) 
2" bolt in the 
arm, as shown. 
Put flange nuts 
onto the end of 
the bolts, but 
do not tighten 
completely. 
Repeat on the 
other side with 
the left arm 
assembly.  Stand 
the glider up 
on all fours and 
adjust the chair 
so it sits evenly, 
tighten the 
flange nuts.

Step 4
Fasten the front slat on the seat to the legs as shown 
with (2) 2" screws through the pre-drilled holes. 
Repeat on other side.

(2) 2 3/4" Bolts

(2) 2 3/4" Bolts

(1) 2" Bolt

E

G

G



Assembly Instructions

classic 
adirondack glider

330-893-4212 • www.wildridge.com
LCC-208

© 2020

Step 7
Set the seat assembly over the glider base assembly, making sure 
the straight part of the glider base assembly is facing towards the 
front and the angled part of the base is turned towards the back.  
Fasten the bottom of the glider hanger (to each of the legs) by 
sliding (1) 3/8" washer onto (1) 3/8" x 2 1/4" machine bolt. Push the 
bolt through hole from the inside to the outside. Now, add another 
3/8" washer, then fasten (1) 3/8" lock nut tightly on to the bolt. 

Straight 
Side Of 

Base 
Should 

Face 
Towards 

The Front

Step 8
Your glider is complete. Enjoy!

Thank you for purchasing from Wildridge.

Step 6
Next, to mount a glider bracket onto the glider base, slide (1) 3/8" 
washer onto (1) 3/8" x 2 1/2" machine bolt. Push the bolt through 
the pre-drilled hole in the base from the inside to the outside. Now, 
add another 3/8" washer, then hang a glider bracket onto the bolt 
with the curve facing away from the glider base, as shown. Now 
fasten (1) 3/8" lock nut tightly on to the bolt. Repeat on the other 3 
sides.

3/8" x 2 1/2" Bolt

3/8" Washer

Glider Bracket 
With Curve 

Facing Away 
From Glider 

Base

3/8" 
Lock Nut


